CHE101 - Extra Practice - Chapter 8: Reactions - F19 - Ver. 7

Name: Class: Date:

Answer the following reactions. Balance all charges, balance the reaction, include states when known. Write NR
if no reaction occurs.
1. Io (S) +_ Ca012 (aq) —

2. __CHg +___ 02 (g) —

3. _ CsH11OH +_ 029 (g) —

4. _Ir (s) +__ NaCl (aq) —

5. _ Ag(s) +__ MgCOs3 (s) —

6. _ Mg(OH)z (s) +__ (NHy)2S (aq) —
7. _Nil, () +__ Bro (I) —

8. _ Mg (s) +__ Zn3(AsO4)a (s) —

10. _ Ba(OH)y (aq) +__ H3PO4 (aq) —

11. _ Mg (s) +__ HF (aq) —

12. _ Sc(OH)3 (aq) +__ HyS04 (aq) —

13. __H3PO4 (aq) +__ Ca(OH), (aq) —

14. _ Ca(OH)y (aq) +__ H3POy4 (aq) —

15. _ (NH4)3As04 (aq) +__ Ca(OH)s (s) —
16. _ CaSO3 () +__ HyCrO4 () —

17. _ Hs0 (aq) +__ Na (s) —

18. _ CsHiz +_ O3 (g) —

19. _ C4HoOH +__ Oy (g) —

20. _ HI (aq) +__ CaSO3 () —
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Question 1: __ Iy (s) +___ CaCly (aq) — NR

Question 2: 2 CoHg + 7 O2(g) — 4 COz (g) + 6 H0 (g) + heat
Question 3: 2 CsH;;OH + 15 O2 (g) — 10 CO2 (g) + 12 H30 (g) + heat
Question 4: __TIs (s) +___ NaCl (aq) — NR

Question 5: __Ag (s) +__ MgCOs3 (s) — NR

Question 6: 1 Mg(OH)z (s) + 1 (NH4)2S (aq) — 1. MgS () + 2. H20 () + 2. NH;3 (g)
Question 7: [0 Nil, () + [I0 Bra (1) — [0 Ip (s) + 110 NiBrs ()

Question 8: 3 Mg (s) + 1 Zn3(AsOq4)2 (s) — 3. Zn (s) + L. Mg3(AsOq4)2 ()

Question 9: 2 K (s)+ 1 NO()— 1 Ni(s)+ 1 KO (aq)

Question 10: 3 Ba(OH)z (aq) + 2 H3PO4 (aq) — _1_ Bag(PO4)2 (s) + 6 HsO (1) + heat

Question 11: 1 Mg (s) + 2. HF (aq) — 1 Hz (g) + L MgF; ()

Question 12: 2 Sc(OH)s (aq) + 3 Ha2SO4 (aq) — 1 Sca(SO4)3 () + 6 H0 (1) + heat
Question 13: 2 H3PO4 (aq) + 3 Ca(OH)z (aq) — 1 Caz(POy4)2 (s) + 6. H>O (1) + heat
Question 14: 3 Ca(OH)z (aq) + 2. H3PO4 (aq) — 1 Caz(POy4)2 (s) + 6. H>O (1) + heat

Question 15: _2 (NHy4)3As04 (aq) + 3. Ca(OH)s (s) — 1 Caz(AsOy4)s (s) + 6 HoO (1) + 6 NH; (g)

Question 16:

|)_‘

CaSOs3 () + 1 HoCrOy () — 1. CaCrOy (aq) + 1. H,0 (1) + L1 SO, (g)

Question 17: Na (s) + .1 HO (aq) — _1_ Hs (g) + .1 NayO (aq)

Question 18:

|'_.

CsHia + 8 0O2(g) — 5 CO2 (g) + 6 H0 (g) + heat

Question 19:

|'_\

CsHOH + 6 O2(g) — 4 CO2(g) + 5 Hs0 (g) + heat

Question 20: 2 HI (aq) + _1_ CaSO3 () — 1 Caly (aq) + _1_ HO (1) + 1 SO2 (g)



